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1 0100 —8K 453 1.098
2  A100 RBHIPER 739 2,253
3 0200 RER : 156 270
4 0300 FRAHER 39 128
5 0400 BeFE1TEIE 250 540
6 0500 EHEHFE1TH2E 350 876
7 0600 EBEEHFE2THIE 279 623
8 0700 SHAE2TH2E 316 718
9 0800 HAEMEITHIEX 322 716
10 0900 HARAEITH2R 148 333
i1 1000 HEEER 390 1,069
12 1100 HEFREX 283 701
13 1200 HEBE 312 782
14 1300 BERER 155 341
15 1400 HEAX 177 421
16 1500 JL3mERE 367 861
17 1600 JFEAR - 196 488
18 1700 ®BRE 345 924
19 1800 #HFE 341 855
20 1900 [RHE 220 499
21 2000 FEHEX 154 384
22 2100 EXRARE1THE 503 1,197
23 2200 EIRAE2THE 580 1,363
24 2300 BEXRHFIEITHE 293 778
25 4200 HRE 162 473
26 2400 EEI1E 153 355
27 2500 FHEI2KX 78 213
28 2600 | EEI3RX 236 475
29 2700 FEIAEX 35 75
30 2800 HEEX 164 371
31 2900 TFHI1E 200 495
32 3000 TTFHI2ZEE 351 886
33 3100 TFHI3E 281 761
34 3200 TTFET4ARX 289 701
35 3300 #HREE 286 600
36 3400 #HRHPRE 320 826
37 3500 #REAER 205 477
38 3600 I 349 865
3¢ 3700 =HER 685 1,686
40 3800 =HBEK 701 1,958
41 3900 EIEE 100 260
42 4000 AllBIE 159 415

= it 12,138 30,110




